-y Rambler Fit Kit (TT600358)
TerraTr’ke for Low Rider Rack
Tools: M

8mm

4mm Allen
Parts:

M5x70 X 2 x4 X 4 X 2 x4 X 6

M5x16 M5x16 M5 flat washer M5 nyloc M5 nut
w/washer nut
X 2 X 2 x 1

Lower Chainstay  ypper Chainstay Lower Main Upper Main

Clamp Bracket Clamp Clamp Clamp Clamp

1. Attach Upper and
Lower Main Clamps

to the main frame. Do
not tighten bolts until
completely assembled.

o 2. Mount Chainstay
Clamps as shown.
Do not tighten bolts
until completely
assembled.

P,
I M5x16
w/washer

- -
: 5 | Low Rider
: : Rack
M5x70 —F ]
H s M5 flat washer !
: s o= M5x16
‘ g = /w/washer
Low Rider H H M5 nyloc nut / |
Rack | - S ' M5 nut
T\ 48 Clamp Bracket/ /
Upper Main | ' . ) =
Clamp — | | E Upper Chainstay @
ﬂ Clamp | |
| | M
! I ! |
Lower Chainsta ' [
Lower Main | I clam .~ |
P
Sam — TN o Eg
= =i
M5 flat washer \ M5x16
M5 nyloc nut

] TerraTrike.com | 800.945.9910



